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1. Which of the following is not a solution of the absolute value inequality, [3x + 5|2 4.

a) -5 b) -2 c) 0
d) 4 e) 287

2. Write the equation whose graph is the line through the points (3,-4) and (-2,3).

a) Sx+7y=0 b) y=5x-7 C) y=Xx+5
d) 5x-7y-31=0 e) 7x+5y-1=0
3. Simplify 2XZXW
a) -y-w b) xzy—xzw c) W~y
d) x*(w-y) ¢) (y-w)’

4. Determine the zeros of the polynomial P(x) = X - 7x - 6.
a) -1,1,6 b) 1,-1,-6 ¢) 0,0,0
d) -2,-1,3 e) -3,1,2

5. Find the coordinates of the vertex of the parabola y = 2x% + 12x - 3.,
a) (3,15) b) (3,21) c) (3,12)
d) (-3-15) &) (-3,-57)



6. Ginny leaves school at 1:00 pm in her car traveling north at a rate of 24 mph. At the same time, Penny
leaves school traveling west on her bicycle at a rate of 10 mph. At 2:00 pm, what is the distance between
Ginny and Penny ?

a) 26 miles b) /34 miles ¢) 14 miles
d) 34 miles e) V476 miles

7. Alice has $2.60 in nickels and dimes. The number of dimes is two less than three times the number of
nickels. How many of each coin does Alice have?

a) 8 nickels, 22 dimes b) 7 nickels, 19 dimes ¢) 12 nickels, 20 dimes
d) 2 nickels, 25 dimes ¢) 32 nickels, 10 dimes

has two solutions. Their product is

8. The equation
x —

a) 6 b) 7 c) 10
d) 12 e) 14

9. When the polynomial x*-3x> - Tx2 + Tx + 2 is divided by x +2 the quotient is x> +Bx% +cx + 1,
The value of B +C is

a) -8 b) -2 c) 0
dy 2 e) 10
10. Find the solution to the system of equations: 3x-2y=4
5x + 3y =13
X +y =4
12 8
a) (2,1) b) (1,2) ¢) (*5*,-5*)

d) (%,%) ) there is no solution to the system



1i. The graph of the equation X - 2x + y2 -4y +5=0 is
a) a circle b) a hyperbola ¢) two intersecting lines

d) a single point e) a parabola

12. Suppose y= . Choose functions f(x) and g(x) sothat y=1(g(x)).

(x2 + 1)2
3 5 2 1
a) fx)=— gx)=x"+1) b) f(x)=3 glx) = sy
X (x -H)
O )= =  gx)=x’+1 d) f(x) = 0= ~
x* & x* +1 g x2
¢) Both a) and ¢} are correct
13. Solve the equation log,, 10" = x> - 6.
a) V6 b) 3, -2 o) 4, -4
d) 0,6 e 1,-5
14. Which of the following equations is not a function of x.
() y =l (i) x+2y=y (i) y= I/x (iv) x°+y° =4 V) X +y=4
ay i,ivand v b) i, ii and iii c) ivandv
d) iv e) i
1
15. Solve for x: -—1—=2
] — e
1-x
a) -1 b) 1 ¢) -1,1




16. Multiply the two complex numbers: (1 + i2)(1-1v2)

a) 1-2i b) 1+2i
d) 3 e) 5

3 2
17. Simplify the expression s e X *1

x+1 x*~1
2 2
a) (x +Z(X++11))(: +1) b) x>+ x+1
2 _ 2
d (x x+1)(x +1) &) 2wl

(x+1)

c) -3

c) X2 +1

18. A pizza restaurant offers 8 different toppings and 4 different cheeses. A deluxe pizza contains your
choice of 5 different toppings and your choice of 2 different cheeses. How many different deluxe pizzas

are possible?

a) 10 b) 48

d) 80,640 e) §8-4%

19. Solve the equation X% +x-1=0,

a) 1/29'1 b) '1/2,1
O 1+iV7 0 ~13i7
4 2

20. Determine the solution to the inequality 4 -2x <-4,

a) .é-d—o b) 4&-@_0

d)*é"‘“ﬁ— ©) Gt

¢) 336

°>-——-JM#
4



21. Determine the solution to the system of inequalities x+y g1
X+y 20

b) /\/ ¢) . \/\

NG
N

d) e) AN

22, If the expression (x2 + 1)3(x4 + 3)(2x - 1) was multiplied out, the highest power on x would be
a) 10 b) 11 c) 13
d) 7 e) 8

23. Determine the relationship between the lines whose equations are x +2y =3 and y=3x-2.
a) parallel b) they are the same line
c¢) perpendicular d) intersect at the point (1,1), but are not perpendicular

¢) intersect at the point (3,-2), but are not perpendicular

24. Which pair of points are the greatest distance apart ?
a) (0,0) and (6,8) b) (0,0) and (0,12) ¢y (1,1) and (10,1)
d) (-7,2) and (7,2) e} (0,0) and (3,4)

25. Evaluate the expression 47 4 o124 2B

a) 12 b) 11;— c)y 10

d) 13l ) 12-%
2 3



26. Which of the following are TRUE statements for all real numbers A and B ?

i) VA VB=vAB () VAT4+B? =A+B (i) VA_BZ =A-B (v) VA% =A

a) all are true b) iandiv ¢)i

d) i, 1 and iii e) i,iiand iv

27. The graph of y = x* from x=-1 to x =2 is sketched below. The area of region A is 1/3 and the

area of region B is /3. Determine the area of the shaded region.
a) 3 b) 7/3 c) 1572
d) 21/2 e) 972

)

-1 / 3 2
g = A
28. In the diagram below, assume that the distance from A to C is 20, the distance from A to D is 4, and
the distance from A to B is x. Determine the sum of the distances from Dto B and Bto C.
a) 24 b) x+4 &) VI6+x2 + 20-x
d) V16—x* +20-x &) V16-x* +20 DL
A B 3
29. If «/x—5 +7=x,then x= _
2) 6,9 b) ”;@ Q) 6
d) 9 e) 14
30, The solution of the inequality 1 < —X s
X 4dx—4
a) (-0, uU(l,00) by (0,1 ¢) (-1,0)

d) (-09, 00 ) e) (0,)



31. A pool that is 30 feet long and 20 feet wide is to have a concrete path of uniform width and 4 inches
deep constructed around it (see drawing). Each cubic yard of concrete will pour 81 square feet of 4 inch
deep concrete. The contractor has budgeted enough money to purchase 6 cubic yards of concrete. Which
number is closest to the largest width possible for the path.

a) 3feet b) 8 feet c) Sfeet 7/ /{ / / / / //‘
P 2

d) o6 feet e) 4feet

3 3  5x—-4

32. If + = — , then x =
XxX—2 x+2 x°-2x
a) 4,2 b) -4 cy 0,-1
d) 4 e) 4,0

33. The domain of f(x) = +/3x-2x* is
a) All real numbers b) [0,3/2] ¢){0,1]

d) (O?OO) e)("°°$0]u[2’°°)

34. If f(x) = —-3‘-2- then the inverse of f(x) is f (x) =
x—

x—2 X 2x
C)
X Xx—2 x—1

a)

d) does not exist e)

35. If x +3 isafactor of x° - 2kx + k> ,then k =
a) 3 by -3,9 ¢) 3,-9
d -3 e) -9



36. A polynomial with real coefficients and zeros 3,-1,and 1+ 2i is
a) x*-2x% +16x-15 b) x*-ax? +6x%-4x-15 ¢) x> -Tx-6

d) x* -6x% -8x-3 &) x* -2 +x% -8x-12

37. If x =log , (1/16), then x =

a) -1/4 b) -4 c)y 172
d) 2 e) -2

38. The solution, (x, y, z), to the system X +y+z=2 is

2x+3y-z=3

Ix+Sy+z=8§
a) (3, 0$ "1) b) (1,2,"1) C) (3$“I$ 0)
d (G,-1,4) e (L2, 1)

39. The solution to the system x> +y2 =25 is
X -y =1

a) (£4,3) b) (4,3).(-3,-4 ¢) (£4,3),(£3,-4
d) (+3,-4) ¢) (3,4),(-4,-3)

40. The equation of the circle with center at (4, -1) and tangent to 3x - 4y = -9 is

a) x4y 2-8x+2y=25 b) x2+y2+8x-2y=8 ) x2+y2+8x-2y=-9

d) x2+y2—8x+2y=8 €) x2+y2~8x+2yz~9









